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MS reaction time upon reception 

of assignment message on CCCH
1 Introduction

3GPP TS 05.10/45.010 specifies the reaction time of an MS to an assignment message. The case where this message is received on a PDCH 52-multiframe is very clear, but the case where the message is received on a CCCH 51-multiframe is undefined.

It is thus suggested to add the case where an assignment message is received on CCCH. The proposed clarification can be found in [1] to [6].

2 Description of the problem

Excerpt of 3GPP TS 45.010 v.6.x.y §6.11.1:

“6.11.1
Uplink and downlink assignment reaction times
An MS shall be ready to transmit and receive using a new assignment no later than the next occurrence of block B((x+3) mod 12) where block B(x) is the last radio block containing the assignment message. 

If the MS is required to transmit a PACKET CONTROL ACKNOWLEDGEMENT subsequent to an assignment message (see 3GPP TS 44.060), the MS shall be ready to transmit and receive on the new assignment no later than the next occurrence of block B((x+2) mod 12) where block B(x) is radio block containing the PACKET CONTROL ACKNOWLEDGEMENT.

The reaction time applies also for the reception of the first USF for dynamic uplink assignment.”

Case 0 is depicting the situation where the assignment message is sent on PDCH, as per 3GPP TS 45.010.

Case 0: Assignment sent on PDCH 
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The last
 block containing the assignment message is B0 of the PDCH 52-multiframe. As specified in 3GPP TS 45.010, the MS shall be ready to receive and transmit no later than the block B3 (9 frames period left in between).

Three cases where assignment message is sent on CCCH are provided as examples, to explain the situations for which the current text, as it is written, is not applicable.
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Case 1: The assignment message sent on CCCH corresponds with a PDCH Block

The last radio block containing the assignment message coincides with B0 of the PDCH. In the proposed CRs, the MS should be ready to receive and transmit no later than the block B3 (9 frames period left).
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Case 2: The assignment message sent on CCCH does not correspond with a PDCH Block

The final burst of the radio block containing the assignment message coincides with B1 of the PDCH. In the proposed CRs, the MS should be ready to receive and transmit no later than the block B4, which would allow 12 frames period (transmission in B3 would only allow 8 frames period, which is less than the reaction time required for the PDCH case – Case 0).

Case 3: The end of the assignment message sent on CCCH corresponds with an Idle burst of the PDCH multiframe
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The final burst of the radio block containing the assignment message coincides with an IDLE burst of the PDCH. In the proposed CRs, the MS should be ready to receive and transmit no later than the block B6, which would allow 13 frames period  (transmission in B5 would only allow 8 frames period, which is less than the reaction time required for the PDCH case – Case 0).

3 Proposed solution

Since the current text in 05.10/45.010 does not cover the case when assignment message is sent on CCCH, manufacturers could implement this case in various manners. For instance, some network manufacturers could assume that in the case where the end of the assignment message corresponds with an idle burst of the PDCH multiframe (Case 3), which is the most ambiguous case, only 8 frames period should be enough for the MS to be ready to transmit and receive. On their side, MS manufacturers could interpret this case differently and assume that the MS has 13 frames period to react. In such a case, the MS might not have time to switch to the PDCH channel and be ready to transmit and receive. This could lead to the impossibility to establish a TBF.

To avoid different implementations, it is proposed to add the case where the assignment message is sent on CCCH, in §6.11.1 of 3GPP TS 05.10/45.010 from R97 onwards:

“An MS shall be ready to transmit and receive using a new assignment sent on PACCH or PCCCH no later than the next occurrence of block B((x+3) mod 12) where block B(x) is the last radio block containing the assignment message.
An MS shall be ready to transmit and receive using a new assignment sent on CCCH no later than the next PDCH block occurring at least 9 frame periods after 
the last radio block containing the assignment message.”
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� The assignment message can be segmented into two blocks.
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